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AY–1130

B.Com. Part-I (Semester–II) Examination
COMMERCE

(Business Economics)
Time : Three Hours] [Maximum Marks : 80

Note :— (1) ALL questions are compulsory.

(2) Draw diagrams wherever necessary.

SECTION—A

(Multiple Choice Questions)

Select suitable alternative :

(1) _____ is the feature of business economics.

(a) Science (b) Art

(c) (a) and (b) (d) None of these 1

(2) Managerial Economics is called as _____ Science.

(a) Managerial (b) Workers

(c) Profit (d) Interests 1

(3) _____ is the nature of Business Economics.

(a) Macro Economics (b) Micro Economics

(c) Economics of Development (d) Statistical Economics 1

(4) _____ is the subject of Business Economics.

(a) Statistical (b) Applied

(c) Computerised (d) None of these 1

(5) In _____ market supply can not be increased in accordance with demand.

(a) Short-term market (b) Very short-term market

(c) Long-term market (d) Very long-term market 1

(6) In long-term monopolist can earn _____.

(a) Normal Profit (b) Loss

(c) Extra ordinary profit (d) All of the above 1

(7) Monopolists controls over _____.

(a) Supply of commodity (b) Demand of commodities

(c) Demand and supply of commodities (d) None of the above 1

(8) When different types of commodities are purchased and sold in same market at same
time, this market called as _____.

(a) Monopoly Market (b) Perfect Competition Market

(c) Mixed Market (d) Oligopoly Market 1
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(9) In _____ market there is non-price competition.

(a) Oligopoly (b) Monopoly

(c) Perfect competition (d) Imperfect competition 1

(10) In imperfect competition firm earns normal profit when _____.

(a) AR = AC (b) MR = MC

(c) AR > AC (d) AR < AC 1

(11) Definite demand curve can not be obtain in _____.

(a) Perfect competition (b) Monopoly

(c) Oligopoly (d) None of these 1

(12) _____ is an imaginary situation of market.

(a) Monopoly (b) Oligopoly

(c) Perfect competition (d) Imperfect competition 1

(13) According to Ricardo land without rent is called as _____.

(a) Marginal Land (b) Productive Land

(c) Semi Marginal Land (d) None of these 1

(14) Supply curve of factors of production is _____.

(a) Negative (b) Positive

(c) Parallel (d) None of these 1

(15) Theory of Quasi rent proposed by _____.

(a) Adam Smith (b) Ricardo

(c) Marshal (d) None of these 1

(16) In Economics Wages are related with _____.

(a) Monetary Wages (b) Real Wages

(c) Commodity Wages (d) Daily Wages 1

(17) Total demand curve of loanale funds is _____.

(a) Upward slopping from left to right

(b) Straight

(c) Downward slopping from left to right

(d) None of these 1

(18) In economy if total supply of saving is more than demand for total investment, then
rate of interest will be _____.

(a) Stable (b) Zero

(c) More (d) Less 1
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(19) _____ is the formula of calculating net profit.
(a) Total Income – External Cost (b) Total Income – Internal Cost
(c) Total Income – Total Cost (d) None of these 1

(20) _____ principle of profit theory are consider as dynamic.
(a) Industrial organisation (b) Population
(c) Production methods (d) All of the above 1

SECTION—B
Note :— Write answers in short.
1. (a) Explain any four features of Business Economics.

OR
(b) Explain importance of Business Economics. 4

2. (a) Explain time based classification of market.
OR

(b) What is Price mechanism ? 4
3. (a) What is Collusive Price determination ?

OR
(b) Define Perfect Competition and explain its features. 4

4. (a) Explain factors affecting demand of factors of production.
OR

(b) Explain criticisms of marginal productivity theory. 4
5. (a) Explain motives of Keynsian theory of interest.

OR
(b) Discuss the dynamic theory of profit. 4

SECTION—C
Note :— Write answers in detail.
1. (a) Explain the relation between managerial economics and business economics.

OR
(b) Explain the nature and scope of managerial economics. 8

2. (a) Explain the meaning of market and explain its competition based classification.
OR

(b) Explain the meaning and various types of price discrimination. 8
3. (a) Explain with diagram, the process of price determination in imperfect competition.

OR
(b) Define perfect competition and explain price determination therein. 8

4. (a) Compare Ricardian and modern theory of rent.
OR

(b) Explain with diagram the law of marginal productivity. 8
5. (a) Explain time preference theory of Fisher.

OR
(b) Explain dynamic theory of profit profounded by J.B. Clark. 8
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¼ejkBh ek/;e½
lwpuk :— (1) loZ iz’u lksMfo.ks vko’;d vkgs-

(2) vko’;d rsFks vkd‘R;k dk<k-

foHkkxµv
¼cgqi;kZ;h iz’u½

;ksX; i;kZ; fuoMk %

¼1½ O;kolk;hd vFkZ’kkL=kps ______ oSf’k"Vîs vkgs-

¼v½ ’kkL= ¼c½ dyk

¼d½ ¼v½ vkf.k ¼c½ ¼M½ ;kiSdh ukgh 1

¼2½ izca/kdh; vFkZ’kkL=kyk ______ ’kkL= vls Eg.krkr-

¼v½ izca/kukps ¼c½ dkexkjkps

¼d½ u¶;kps ¼M½ C;ktkps 1

¼3½ O;kolk;hd vFkZ’kkL=kps Lo:i ______ vkgs-

¼v½ LFkwy vFkZ’kkL= ¼c½ lq{e vFkZ’kkL=

¼d½ fodklkps vFkZ’kkL= ¼M½ lka[;hdh vFkZ’kkL= 1

¼4½ O;kolk;hd vFkZ’kkL= gs ______ fo"k; vkgs-

¼v½ lka[;hdh; ¼c½ O;kogkjhd

¼d½ lax.kdh; ¼M½ ojhyiSdh ukgh 1

¼5½ ______ cktkjkr ekx.khuqlkj iqjoBk ok<fork ;sr ukgh-

¼v½ vYidkyhu cktkj ¼c½ vfr&vYidkyhu cktkj

¼d½ nh?kZdkyhu cktkj ¼M½ vfr&nh?kZdkyhu cktkj 1

¼6½ ,dk/khdkjkyk nh?kZdkGkr ______ izkIr gksÅ ’kdrs-

¼v½ lkekU; uQk ¼c½ gkuh

¼d½ vlkekU; uQk ¼M½ ojhyiSdh loZ 1

¼7½ ,dkf/kdkÚ;kps ______ fu;a=.k vlrs-

¼v½ oLrqP;k iqjon~;koj ¼c½ oLrwP;k ekx.khoj

¼d½ oLrwph ekx.kh o iqjoBk ¼M½ ;kiSdh ukgh 1

¼8½ ,dkp cktkjkr tsOgk vusd izdkjP;k oLrw ,dkp osGh [kjsnh foØh dsY;k tkrkr v’kk cktkj isBsyk ______
Eg.krkr-

¼v½ ,dk/khdkjh cktkjisB ¼c½ iw.kZ Li/kkZ cktkjisB

¼d½ feJhr cktkjisB ¼M½ vYikf/kdkj cktkjisB 1
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¼9½ ______ cktkjkr xSjfdaerh izfrLi/kkZ vlrs-

¼v½ vYikf/kdkj ¼c½ ,dkf/kdkj

¼d½ iw.kZ Li/kkZ ¼M½ viw.kZ Li/kkZ 1

¼10½ viw.kZ Li/ksZr laLFksyk lkekU; ykHk R;foGsl izkIr gksrks tsOgk ______-

¼v½ AR = AC ¼c½ MR = MC

¼d½ AR > AC ¼M½ AR < AC 1

¼11½ ______ [kjk[kqjh ekx.kh oØ dk<rk ;sr ukgh-

¼v½ iw.kZ Li/ksZr ¼c½ ,dk/khdkjkr

¼d½ vYik/khdkjkr ¼M½ ;kiSdh ukgh 1

¼12½ cktkjkrhy ______ gh ,d dkYiuhd fLFkrh vkgs-

¼v½ ,dk/khdkj ¼c½ vYik/khdkj

¼d½ iw.kZ Li/kkZ ¼M½ viw.kZ Li/kkZ 1

¼13½ fjdkMksZP;k ers HkkVd jghr Hkwehyk ______ Eg.krkr-

¼v½ lhekar Hkweh ¼c½ mitkÅ Hkweh

¼d½ v/kZlhekar Hkweh ¼M½ ;kiSdh ukgh 1

¼14½ mRiknu lk/kukP;k iqjoBk oØ ______ vlrks-

¼v½ _.kkRed ¼c½ /kukRed

¼d½ lekarj ¼M½ ;kiSdh ukgh 1

¼15½ vkHkklh HkkVdkpk fl)kark ______ ;kauh ekaMyk-

¼v½ vWMe fLeFk ¼c½ fjdkMksZ

¼d½ ek’kZy ¼M½ ;kiSdh ukgh 1

¼16½ vFkZ’kkL=kr etqjhpk vFkZ ______ laca/khr vkgs-

¼v½ ekSfnzd etqjh’kh ¼c½ okLrfod etqjh’kh

¼d½ oLrq:ikrhy etqjh’kh ¼M½ nSfud etqjh’kh 1

¼17½ _.k;ksX; fu/khpk ,dw.k ekx.kh oØ gk ______ vlrks-

¼v½ mtohdMs oj p<r tk.kkjk ¼c½ ljG

¼d½ mtohdMs mrj.kkjk ¼M½ ;kiSdh ukgh 1

¼18½ vFkZO;oLFksr ,dw.k cprhpk iwjoBk gk ,dw.k xqaro.kwd ekx.kh is{kk vf/kd vlsy rj C;ktnj ______ jkghy-

¼v½ fLFkj ¼c½ ’kq.;

¼d½ vf/kd ¼M½ deh 1
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¼19½ ’kq) ykHkkps vkx.ku dj.kkjs ______ gs lq= vkgs-
¼v½ ,dw.k vk;&cká O;; ¼c½ ,dw.k vk;&vkarjhd O;;
¼d½ ,dw.k vk;&,dw.k O;; ¼M½ ;kiSdh ukgh 1

¼20½ u¶;kP;k fl)karkps ______ rRo xfreku letys tkrs-
¼v½ vkS|ksxhd la?kVu ¼c½ yksdla[;k
¼d½ mRiknu i)rh ¼M½ ojhyiSdh loZ 1

foHkkxµc
FkksMD;kr mÙkjs fygk %

1. ¼v½ O;kolk;hd vFkZ’kkL=kph pkj oSf’k"Vîs Li"V djk-
fdaok

¼c½ O;kolk;hd vFkZ’kkL=kps egRo Li"V djk- 4
2. ¼v½ dkGkuqlkj cktkjisBsps oxhZdj.k Li"V djk-

fdaok
¼c½ fdaer ;a=.kk Eg.kts dk; \ 4

3. ¼v½ laxuerkus ewY; fu/kkZj.k Eg.kts dk; \
fdaok

¼c½ iw.kZ Li/ksZph O;k[;k nsÅu oSf’k"Vîs Li"V djk- 4
4. ¼v½ mRiknu lk/kukP;k ekx.khyk izHkkohr dj.kkjs ?kVd Li"V djk-

fdaok
¼c½ lhekar mRikndrk fl)karkojhy fVdk Li"V djk- 4

5. ¼v½ dhUlP;k C;ktkP;k fl)karkps gsrw Li"V djk-
fdaok

¼c½ u¶;kP;k xfreku fl)karkph ppkZ djk- 4
foHkkxµd

lfoLrj mÙkjs fygk %
1. ¼v½ izca/kdh; vFkZ’kkL= vkf.k O;kolk;hd vFkZ’kkL= ;kaP;krhy laca/k Li"V djk-

fdaok
¼c½ izca/kdh; vFkZ’kkL=kps Lo:i o O;kIrh Li"V djk- 8

2. ¼v½ cktkjisBspk vFkZ Li"V d#u Li/ksZP;k vk/kkjs cktkjisBsps oxhZdj.k Li"V djk-
fdaok

¼c½ ewY; foHksnkRed ,dkf/kdkjkpk vFkZ Li"V d:u R;kps fofo/k izdkj Li"V djk- 8
3. ¼v½ viw.kZ Li/ksZr ewY; d’kkizdkjs fuf’pr dsY;k tkrs \ vkd‘rh nsÅu Li"V djk-

fdaok
¼c½ iw.kZ Li/ksZph O;k[;k nsÅu- iw.kZ Li/ksZrhy fdaer fuf’prh Li"V djk- 8

4. ¼v½ fjdkMksZpk HkkVd fl)kar vkf.k HkkVdkpk vk/kqfud fl)kar ;kaph rqyuk djk-
fdaok

¼c½ lhekar mRikndrk fl)kar vkd‘rhlg Li"V djk- 8
5. ¼v½ fQ’kjpk le; vHkhyk"kk fl)kar lfoLrj Li"V djk-

fdaok
¼c½ ts-ch- DykdZ ;kapk u¶;kpk xfrekurspk fl)kar Li"V djk- 8
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¼fgUnh ek/;e½
lwpuk :— (1) lHkh iz’u vfuok;Z gSaA

(2) tgk¡ vko’;d gSa ogk¡ js[kkfp= cuk,aA

foHkkxµv
¼cgqi;kZ;h iz’u½

mfpr i;kZ; pqfu, %

¼1½ O;kolkf;d vFkZ’kkL= dh ______ fo’ks"krk,a gSaA

¼v½ ’kkL= ¼c½ dyk

¼d½ ¼v½ ,oe~ ¼c½ ¼M½ buesa ls ugha 1

¼2½ izca/kdh; vFkZ’kkL= dks ______ ’kkL= ,slk dgrs gSaA

¼v½ izca/ku dk ¼c½ dkexkjks dk

¼d½ ykHk dk ¼M½ C;kt dk 1

¼3½ O;kolkf;d vFkZ’kkL= dk Lo:i ______ gSA

¼v½ LFky vFkZ’kkL= ¼c½ lw{e vFkZ’kkL=

¼d½ fodkl dk vFkZ’kkL= ¼M½ lkaf[;dh vFkZ’kkL= 1

¼4½ O;kolkf;d vFkZ’kkL= ;s ______ fo"k; gSA

¼v½ lkaf[;dh; ¼c½ O;kogkfjd

¼d½ lax.kdh; ¼M½ buesa ls ugha 1

¼5½ ______ cktkj esa ek¡xuqlkj iwfrZ c<+kuk laHko ughaA

¼v½ vYidkyhu cktkj ¼c½ vfr&vYidkyhu cktkj

¼d½ nh?kZdkyhu cktkj ¼M½ vfr&nh?kZdkyhu cktkj 1

¼6½ ,dkf/kdkj dks nh?kZdky esa ______ izkIr gksrk gSA

¼v½ lkekU; ykHk ¼c½ gkfu

¼d½ vlkekU; ykHk ¼M½ buesa ls lHkh 1

¼7½ ,dkf/kdkj dk ______ fu;a=.k jgrk gSA

¼v½ oLrq ds iwfrZ ij ¼c½ oLrq ds ek¡xij

¼d½ oLrq ds ek¡x ,oe~ iwfrZ ij ¼M½ buesa ls ugha 1

¼8½ ,d gh cktkj esa tc vusd izdkj dh oLrq,a ,d gh le; esa Ø;&foØ; gksrh gSa] rc ,sls cktkj isB
dks _____ dgrs gSaA

¼v½ ,dkf/kdkjh cktkjisB ¼c½ iw.kZ Li/kkZ;qDr cktkjisB

¼d½ fefJr cktkjisB ¼M½ vYikf/kdkj cktkjisB 1
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¼9½ ______ cktkj esa xSj fderh izfrLi/kkZ jgrh gSA

¼v½ vYikf/kdkj ¼c½ ,dkf/kdkj

¼d½ iw.kZ Li/kkZ ¼M½ viw.kZ Li/kkZ 1

¼10½ viw.kZ Li/kkZ esa laLFkk dks lkekU; ykHk ml le; izkIr gksrk gS] tc ______A

¼v½ AR = AC ¼c½ MR = MC

¼d½ AR > AC ¼M½ AR < AC 1

¼11½ ______ fuf’pr ek¡x dk oØ fudkyuk laHko ughaA

¼v½ iw.kZ Li/kkZ esa ¼c½ ,dkf/kdkj esa

¼d½ vYikf/kdkj esa ¼M½ buesa ls ugha 1

¼12½ cktkj esa dh ______ og ,d dkYifud fLFkfr gSA

¼v½ ,dkf/kdkj ¼c½ vYikf/kdkj

¼d½ iw.kZ Li/kkZ ¼M½ viw.kZ Li/kkZ 1

¼13½ fjdkMksZ ds vuqlkj [kaMjfgr Hkwfe dks ______ dgrs gSaA

¼v½ lhekar Hkwfe ¼c½ mitkÅ Hkwfe

¼d½ v/kZ&lhekar Hkwfe ¼M½ buesa ls ugha 1

¼14½ mRiknu lk/kukas dk iwfrZ oØ ______ dgrk gSaA

¼v½ _.kkRed ¼c½ /kukRed

¼d½ lekarj ¼M½ buesa ls ugha 1

¼15½ vkHkkl [kaM fl)kar ______ bUgksaus jpkA

¼v½ vWMe fLeFk ¼c½ fjdkMksZ

¼d½ ek’kZy ¼M½ buesa ls ugha 1

¼16½ vFkZ’kkL= esa etnwjh dk vFkZ ______ lacaf/kr gSA

¼v½ ekSfnzd etnwjh ls ¼c½ okLrfod etnwjh ls

¼d½ oLrq ds :i esa etnwjh ls ¼M½ nSfud etnwjh ls 1

¼17½ _.k;ksX; fuf/k dk dqy ek¡x oØ ;g ______ jgrk gSA

¼v½ nk;sa ls Åij p<+us okyk ¼c½ lh/kk

¼d½ nk;ha rjQ >qdus okyk ¼M½ buesa ls ugha 1

¼18½ vFkZO;oLFkk esa dqy cpr iwfrZ ;g dqy fuos’k ek¡x ls T;knk jgk rc C;kt nj ______ jgsxkA

¼v½ fLFkj ¼c½ ’kwU;

¼d½ T;knk ¼M½ de 1
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¼19½ ’kq) ykHk dk vkx.ku djus dk ______ ;g lw= gSA
¼v½ dqy vk; & cká ykxr ¼c½ dqy vk; & vkarfjd ykxr
¼d½ dqy vk; & dqy ykxr ¼M½ buesa ls ugha 1

¼20½ ykHk ds fl)karks dks ______ rRo xfreku dgykrs gSaA
¼v½ vkS|ksfxd la?kVu ¼c½ yksdla[;k
¼d½ mRiknu i)fr ¼M½ buesa ls lHkh 1

foHkkxµc
la{ksi esa tokc fyf[k, %

1. ¼v½ O;kolkf;d vFkZ’kkL= dh pkj fo’ks"krk,a Li"V dhft,A
vFkok

¼c½ O;kolkf;d vFkZ’kkL= dk egRo fo’kn dhft,A 4
2. ¼v½ dky ds vuqlkj cktkjisB dk oxhZdj.k fo’kn dhft,A

vFkok
¼c½ dher ;a=.kk ls vki D;k le>rs gSa \ 4

3. ¼v½ lgefr ls ewY; fu/kkZj.k dk eryc crkyk,aA
vFkok

¼c½ iw.kZ Li/kkZ dh ifjHkk"kk nsdj fo’ks"krk,a Li"V dhft,A 4
4. ¼v½ lk/ku ds ek¡x dks izHkkfor djusokys dkjd Li"V dhft,A

vFkok
¼c½ lhekar mRikndrk fl)kar dh vkykspuk,a Li"V dhft,A 4

5. ¼v½ fdUl dk C;kt ds fl)kar dk gsrq fo’kn dhft,A
vFkok

¼c½ ykHk ds xfreku fl)kar dh ppkZ dhft,A 4
foHkkxµd

foLrkj ls tokc fyf[k, %
1. ¼v½ izca/kdh; vFkZ’kkL= ,oe~ O;kolkf;d vFkZ’kkL= buesa laca/k izLFkkfir dhft,A

vFkok
¼c½ izca/kdh; vFkZ’kkL= ds Lo:i ,oe~ O;kfIr Li"V dhft,A 8

2. ¼v½ cktkjisB dk vFkZ fo’kn djds Li/kkZ ds vk/kkj ij cktkj isB dk oxhZdj.k fo’kn dhft,A
vFkok

¼c½ ewY; foHksnkRed ,dkf/kdkj dk vFkZ fo’kn djds muds fofo/k izdkj fo’kn dhft,A 8
3. ¼v½ viw.kZ Li/kkZ esa ewY; fdl izdkj fuf’pr fd;k tkrk gS \ js[kkfp= }kjk Li"V dhft,A

vFkok
¼c½ iw.kZ Li/kkZ dh ifjHkk"kk nsdj mlesa dher fu/kkZj.k Li"V dhft,A 8

4. ¼v½ fjdkMksZ dk [kaM fl)kar ,oe~ [kaM dk vk/kqfud fl)kar dh rqyuk dhft,A
vFkok

¼c½ lhekar mRikndrk fl)kar js[kkfp= }kjk fo’kn dhft,A 8
5. ¼v½ fQ’kj dk le; vfHkyk"kk fl)kar lfoLrj fo’kn dhft,A

vFkok
¼c½ ts-ch- DykdZ buds ykHk dk xfrekurk fl)kar fo’kn dhft,A 8
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